Amana LW8203L2 (BOM: PLW8203L2 A) 20 - MOTOR, MTG BRKT, BELT,
PUMP & IDLER ASSY

MOTOR, MOUNTING BRACKET, BELT, PUMP AND IDLER ASSEMBLY

* ADD LETTER TO DESIGNATE COLOR. L~ Almond W - White

Amana Residential Amana LW8203L2 (BOM: PLW8203L2 A) Washer Parts Parts Diagram 20 - MOTOR, MTG BRKT
BELT, PUMP & IDLER ASSY

Click on the part number to view part

1 34754 40112301 Shield, Motor

2 36639 4312464 Screw

3 34571P 27001215 Motor W/Pulley

4 23750 Pin, Roll

5 52566 27001225 Nut, Jam Mid Lock 1/4-20

6 34890 Not Available BRACKET,MOTOR MOUNT
" 37415P Kit, Motor Brkt

" 37415 37415P Kit, Motor Brkt

7 Y31645 27001200 Screw

8 30620 Not Available SPRING,IDLER LEVER HEL
9 28803 2221070 Clamp, Nylon

10 31054 40041002 Lever, Idler

" 37443 40041002 Lever, Idler

11 81392 40054701 Washer

12 27229 40038901 Screw, 1/4-20


http://www.pwslaundry.com/c-501672-residential-amana-lw8203l2-(bom:-plw8203l2-a)-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10393657-amana-40112301-washer-shield-motor.html
http://www.pwslaundry.com/i-10396286-amana-4312464-washer-screw.html
http://www.pwslaundry.com/i-10392576-amana-27001215-washer-motor-w-pulley.html
http://www.pwslaundry.com/i-10392839-amana-23750-washer-pin-roll.html
http://www.pwslaundry.com/i-10393323-amana-27001225-washer-dryer-nut-jam-mid-lock-1-4-20.html
http://www.pwslaundry.com/i-10392297-amana-37415p-washer-kit-motor-brkt.html
http://www.pwslaundry.com/i-10392297-amana-37415p-washer-kit-motor-brkt.html
http://www.pwslaundry.com/i-10393327-amana-27001200-washer-dryer-screw.html
http://www.pwslaundry.com/i-10396411-amana-2221070-washer-clamp-nylon.html
http://www.pwslaundry.com/i-10393704-amana-40041002-washer-lever-idler.html
http://www.pwslaundry.com/i-10393704-amana-40041002-washer-lever-idler.html
http://www.pwslaundry.com/i-10393663-amana-40054701-washer-washer.html
http://www.pwslaundry.com/i-10393664-amana-40038901-washer-screw-1-4-20.html

14 28802 Shaft, Idler

16 Y29443 Washer, Felt

18 52549 Washer, 501 ID X3/4 Odx

20 36863P 27001233 Pump

22 37366 Spring, Idler

23 35423 3400029 Nut, Adapter Plate

25 34788 Mount, Motor

27 35632 Not Available SWITCH, MOTOR


http://www.pwslaundry.com/i-10392837-amana-28849-washer-clip-spring.html
http://www.pwslaundry.com/i-10392836-amana-28802-washer-shaft-idler.html
http://www.pwslaundry.com/i-10392835-amana-y29443-washer-washer-felt.html
http://www.pwslaundry.com/i-10392832-amana-23748-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10392834-amana-52549-washer-dryer-washer-501-id-x3-4-odx.html
http://www.pwslaundry.com/i-10393666-amana-40063701-washer-screw-10-16-x-1-75.html
http://www.pwslaundry.com/i-10396135-amana-27001233-washer-pump.html
http://www.pwslaundry.com/i-10392828-amana-28808-washer-belt-agitate-and-spin.html
http://www.pwslaundry.com/i-10393693-amana-37366-washer-spring-idler.html
http://www.pwslaundry.com/i-10392298-amana-37606-washer-spring-idler-lever.html
http://www.pwslaundry.com/i-10396417-amana-3400029-washer-dryer-nut-adapter-plate.html
http://www.pwslaundry.com/i-10392274-amana-34791-washer-post-mount-motor.html
http://www.pwslaundry.com/i-10392275-amana-34788-washer-mount-motor.html

	Amana LW8203L2 (BOM: PLW8203L2 A) 20 - MOTOR, MTG BRKT, BELT, PUMP & IDLER ASSY

